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h'=h—k

(0<z<Kk)
U a':Reynolds
u(z)=a—Kkexp a(z-k) (6-1) Reynolds
(k<z<h) u(z)
du(z)
Ue , (2 U
u(z)=—"In| = 6-2 Ty =V (6-8)
( ) K (ijr axk (6-2) b
z: U, : (6-1) (6-2)
K: " -=0.4 k: (-k <2<0)
a=(ACp /4xk")™" 4. v (2)=uskexplla’—a)]  (6-9)
L1 vi(z)=u.x(z+k)l-2/h")  (6-10)
u=— 1 — exp(— ak
- expl- k)]
+ ln(ﬂj—ﬂ(l—iJ] (6-3)
k h aK _ _kvy+h'v,
~ h'+k
u = Lgersue (6-4) =-Eﬂi-[ﬂ—+3kjw
n h'+k|{ 6 2
U: n: R: l: 1
(6-3) Manning  (6-4) +k( , j{l—exp(— k(a'—a))}}
a —a
Manning (6-5) (6-11)
u. . 1 Reynolds
X E?[azkh {L—exp(- ak)} a'=2a
7
+1In hy_h-k 1_i ]
k h aK
R2/3|l/2
n, = € 6-5
v X (6-5)
Reynolds slip non-slip
Reynolds
1
(-k<z<0)
PUW =7, = pu?expla'z)  (6-6) 1
(0<z<h)
, X y X y t
pPUW =7, = puf(l—wj (6-7) 800cm | 30cm | 5cm | 2cm | 0.005sec
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_ 16m 30cm
Tyl X Reynolds Amm
u'=u-U u:x U:x 5cm
w=w-W W:z 2mm
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